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Instructions for the candidates :-

1. wemi OMR SR 936 WR AUAT U GRAGT HHib (10 DBl BI1) ALY

ford |

Candidate must enter his / her Question Booklet Serial No. (10 Digits)

in the OMR Answer Sheet.

2. Teefl I 319 Yeai B E SR < |

Candidates are required to give answers in their own words as far as

practicable.

3. TN SR BR™ W A gY e gurie Mfde a=d 2|

Figures in the right hand margin indicate full marks.



gl Bl &IYdd Ugd & foly Rl &1 15 e &1 affaRad |\ faan
T 2 |

15 minutes of extra time has been allotted for the candidate to read
the questions carefully.

IE YIT-UF T WUl H B : GUS—3], GUs—q |

This question booklet is divided into two sections: Section-A,

Section-B

QGue—3 H 70 IR UL 7, 1 ¥ B8l 35 USHl & IR <1 Aard
2| 35 Ul ¥ 3MfAd U H IAX <7 W UUH 35 BT & eAIH BRI |
g% g3 @ oy 1 3f REiRd 8| 3961 SR 1 & oy SucTer &R T

W OMR SR 9= # feU v 981 fdwey & el /Flet dfdl U9 | WIS

| fFA N UPR & FAReR /WA U /s /g 3nfe &1 OMR

SR AP H UART AT A1 7, IUAT YT GRIH Mg 81T |

In Section - A, there are 70 objective type questions, out of which any
35 questions are to be answered. If more than 35 questions are
answered, then only first 35 answer will be evaluated. Each question
carries 1 mark. For answering these darken the circle with blue/ black
ball pen against the correct option on OMR Answer sheet provided to
you. Do not use Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise

the result will be treated invalid.



7. Gus— g H 20 TSR YA 8, H ¥ =gl 10 Ul b1 IR oAl
sfeard 21 U e @ forg 2 ofe FiRa &1 s7a aifiRed sa @ve 4
06 Tre ITNIG U U MU g, f5H | Bl 03 Ul & SR 1 e
g | U g% & oY 05 e FeiRe €

In section - B, there are 20 Short answer type questions, out of which
any 10 questions are to be answered. Each question carries 2 marks.
Apart from these, there are 06 long answer type questions, out of
which any 03 questions are to be answered. Each question carries 5

marks.

8. fhdl qRE & SlagiMed—3a BT YIRT Yuidar afsid |

Use of any electronic appliances is strictly prohibited.

EUus—3[ / SECTION - A

U GIT 1 9 70 Tb & Udd U & 1Y IR fAdbeg Iy 7w & R9d 3
% WA 2| AUH gRT g7 T Hal fadwed & OMR - ¥ W fafed & | &2l 35

Ui b IR < | 35x1=35

Question No.- 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR — Sheet. Answer any

35 questions. 35x 1=35

1. 398 9 DI W% B BT Bl ISR © ?



(A) SaR (B) ==

(C) 7R (D) g,

Which of the following is an example of Kharif Crop ?
(A) Sorghum (B) Gram

(C) Pea (D) Wheat

79 3 ggaul el BI § 7

(A) =T (B) At

(C) =t (D) IR =9

Which of the following is Perennial crop ?
(A) Gram (B) Maize

(C) Onion (D) Napier grass

g W Tolell BAd i § 7

(A) =R (B) 7%
(C) s (D) smreg
Which of the following is pulse crop ?

(A) Lentil (B) Wheat

(C) Maize (D) Potato

T8 I doled A dIF 8 ?
(A) Aad (B) ®urH

(C) S1e (D) Wi



Which of the following is oilseed crop ?

(A) Maize (B) Cotton
(C) Jute (D) Rye
STH 9§ \RATell B DI 7

(A) =T (B) Fat
(C) aireg (D) ueH
Which of the following is fibre crop ?

(A) Sugarcane (B) Maize

(C) Potato (D) Jute

T8 I DB BTl DI 2 ?

(A) =1 (B) At
(C) g (D) &
Which of the following is Sugar crop ?

(A) Sugarcane (B) Maize
(C) Wheat (D) Rice

g4 Tl alell Had B © ?

(A) ST (B) wemT
(C) = (D) g
Which of the following is fruit crop ?

(A) Jamun (B) Maize

(C) Gram (D) Wheat



10.

1.

g8 I fhdAdT STIRT Bh SN & folv a1 & ?

(A) =T (B) @=ft

(C) 7§ (D) %1€

Which of the following is used in Cake Industry ?
(A) Sugarcane (B) Linseed
(C) Wheat (D) Rye

TF0 J0 S0 468 A HHA Bl fhed 7 ?

(A) &1 (B) ==
(C) 7§ (D) st
HUW 468 is the Variety of which crop ?

(A) Rice (B) Gram
(C) Wheat (D) Maize

a1 751 et fhd B 1 AR M © ?
(A) g, (B) Fra®t
(C) = (D) ==
Zea mays L is the variety of which crop ?
(A) Wheat (B) Maize
(C) Gram (D) Lentil
i AUCH B BHA BT DI © 7

(A) =T (B) R
(C) xiE (D) #epr



12.

13.

14,

Leaf roller is the insect of which crop ?

(A) Gram (B) Lentil

(C) Rye (D) Maize

8 9 59 Bad &1 Wl WRI% Ud ¥4l S J9E H @ Okl § 7
(A) == (B) ¥,

(C) 3Rex (D) x1$

Which of the following crop is cultivated in both season Kharif and

Rabi ?
(A) Gram (B) Wheat
(C) Red gram (D) Mustard

ERI% 3REX Bl 9ol R T 8§ ?

(A) 14—15 fHIH /=20 (B) 40—50 f&b. M /20
(C) 100—150 fITH /=20 (D) 200—250 f&. I /20
What is seed rate of Kharif arhar ?

(A) 14-15 kg/ha (B) 40-50 kg/h

(C) 100-150 kg/ha (D) 200-250 kg/ha
o9 362 59 e &1 f5e & 7

(A) =T (B) =R

(C) 1§ (D) %1g

Pusa 362 is the variety of which crop ?

(A) Gram (B) Lentil

(C) Wheat (D) Mustard



15.  UTS9H WeTsdH Udl b B &1 drvdfad 98 & 2
(A) == (B) ex
(C) THreR (D) =1

Pisum sativum L is the botanical name of which crop ?

(A) Gram (B) Pea

(C) Tomato (D) Sugarcane
16.  feap1 AT 69 HHA &1 T B 2

(A) =1 (B) et

(C) T (D) &

Tikka disease is the disease of which crop ?

(A) Gram (B) Groundnut

(C) Maize (D) Wheat

17.  Ydrel fod wad &I fo 8§ ?

(A) HapT (B) ==
(C) 7§ (D) T
Panchali is the variety of which crop ?

(A) Maize (B) Gram
(C) Wheat (D) Tori

18.  WNI% HIMH e R BIdl 2 2
(A) TaFR—CTw=R (B) AS—<A

(C) TeATg—3 TR (D) RydrR—3TaeaR



19.

20.

21.

When Kharif season starts ?
(A) November-December (B) May-June

(C) July-August (D) September-October

& BAA HY AT BIAT B 2

(A) STTIRI—HRaT (B) TTarr—fawR
(C) wrd—anic (D) RiqrR—aracar
When Rabi season ends ?

(A) January-February (B) November-December
(C) March-April (D) September-October
STH | B WA Tl &1 ISR 7 ?

(A) ST+ == (B) #arpl + HIT

(C) =11 + <1 (D) HaFhT + 3fTe]

Which of the following is example of Mixed cropping ?

(A) Barley + Gram (B) Maize + Green gram

(C) Sugarcane + Lady finger (D) Maize + Potato

T8 I BIF ITRad] Wl BT SSIENT g 2

(A) TFT—RA (B) AT

(C) St + =T (D) AHT + IRER
Which of the following is an example of Inter cropping ?
(A) Gram + Linseed (B) Maize + Green gram

(C) Barley + Gram (D) Maize + Red gram



22.

23.

24,

25.

THell BT ST DI FHol AMAIRAT bl & ?

(A) 31.0 . (B) 50.6 ..

(C) 100.0 &4, (D) 200.0 A,
What is the total water requirement of Groudnut ?

(A) 31.0 cm (B) 50.6 cm

(C) 100.0 cm (D) 200.0 cm
fEART &1 ERT 9™ @1 7 ?

(A) <1et (B) 9~

(C) =i (D) &77H & &g el

What is the another name of Diara ?

(A) Tal (B) Chaur
(C) Both (D) None of these
S & P R R ae & forg Soged @ ?

(A) %s fafr (B) aRw= fafey

(C) ST wetrad fafer (D) drex fafer

Which of the following irrigation method is suitable for Potato ?
(A) Furrow method (B) Basin method

(C) Flooding method (D) Boarder method

$TH | DI HaT YIRS © 7

(A) FRaT (B) T¥. 7.
(C) TH. =it . (D) forem

10



26.

27.

28.

Which of the following is soil Amender ?

(A) Urea (B) SSP

(C) MOP (D) Gypsum
feamT o1 3ef @ g ?

(A) W ofs CEEKS
(C) T e (D) 8 <fe

What is the meaning of Diara ?

(A) Green land (B) Ice land
(C) Grass land (D) Home land
T A B UHaU TRUTEAR 8 ?

(A) TR =T (B) e

(C) g™ (D) 3FRde

Which of the following is an annual weed ?

(A) Pathar Chatta (B) Motha

(C) Putus (D) Amarbel

&7 {1 agad EROAAR B & 7

(A) STell T2 (B) a=1

(C) Srergwh (D) s 1 g T

Which of the following is Perennial weed ?
(A) Jangali Jai (B) Banara

(C) Jalkumbhi (D) None of these

11



29.

30.

31.

32.

ST ¥ DI W% AAH BT BRUJAR & ?

(A) ATTST (B) g3

(C) whe ol (D) dreflt HSh
Which of the following is Karif season weed ?
(A) Bhangada (B) Bathua
(C) Safed Seniji (D) Peeli Senji
STH 9§ DI AR 7§ ?

(A) IR (B) vd. s, .
(C) URTEIE (D) TH. 3. .
Which of the following is herbicide ?

(A) Urea (B) SSP

(C) Paraquat (D) MOP
BolRE AR 5 BFA Pl BRUTIR & ?

(A) 7 (B) =%
(C) = (D) g
Phalaris minor is weed of which crop ?

(A) Gram (B) Lentil
(C) Sugarcane (D) Wheat

qiTe! (Eclipta alba) f&d wet &1 @RUAAR & ?
(A) TTE (B) =
(C) =R (D) =

12



Bhangada (Eclipta abla) is the weed of which crop ?
(A) Wheat (B) Gram
(C) Lentil (D) Rice
33 T 9 $IF WRAF WRUTAR © ?
(A) STeTgwT (B) -TTseAy
(C) wrerr (D) g«
Which of the following is Xerophytic weed ?
(A) Jalkumbhi (B) Nagfani
(C) Motha (D) Dub
34.  fdd @dl & forg g7H @ @I ufcdferd € ?

(A) 35 B (B) FRaT

(C) BeswR (D) SrerTEe

Which of the following is restricted in organic farming ?
(A) Rock Phosphate (B) Urea

(C) Feldspar (D) Dolomite

35  gHIPHRE I H g8 U fhaeT SUINT gl 8 ?
(A) wiRe® (B) TR
(C) wgam (D) =T
Which of the following is used for proparation of Vermi Compost ?
(A) Plastic (B) Stone

(C) Earth Worm (D) Copper

13



36.

37.

38.

39.

Hoell # Ageo™ (%) fdha-r gar g ?

(A) 150 — 20.0 (B) 30.0 — 40.0
(C)20—-70 (D) 8.0 — 100
What is the nitrogen (%) content in Oil Cake ?
(A) 150 — 20.0 (B) 30.0 — 40.0

(C)20 —70 (D) 8.0 — 100

STH A DI AEHR Agad Wl # 9 FT w@n g 2 ?

(A) TRFR (B) wrfed

(C) =faeTa (D) 57 & ®Ig 7Tl

Which of the following is land holder of cooperative joint farming ?
(A) Government (B) Collective

(C) Individual (D) None of these

10 BICIR W 3D S dlel (S Bl ... HEd & 7

(A) g7 febarr (B) o1 febwart

(C) wegm faar (D) i farar

Land holding of more than 10 hectare, farmer is known as .........
(A) Large farmer (B) Small farmer

(C) Medium farmer (D) Marginal farmer

$TH 9 DI IWT BT SRy & Bel © 2

(A) udrar (B) 3R
(C) ud (D) <h=h

14



40.

41.

42.

Which of the following is tropical fruit ?

(A) Papaya (B) Grapes

(C) Apple (D) Litchi

T4 | DI Wddleid Feoll B 2

(A) atreg (B) favs

(C) 7= (D) &ras

Which of the following is Winter growing vegetable ?
(A) Potato (B) Lady finger

(C) Bringal (D) Bottle gourd

S TH A DI A TBIIT BIel & Feoll & 7

(A) TTHd< (B) @RI

(C) Teht (D) AR
Which of the following is long day vegetable ?
(A) Sweet Potato (B) Cucumber
(C) Radish (D) Pea

gTH A DI B faAT aren qw 7 ?

(A) TereTS=l (B) agfrram

(C) wedfdar (D) 379 | HT$ R
Which of the following is short day flower ?

(A) Chrysanthemum (B) Petunia

(C) Rudbeckia (D) None of these

15



43.

44.

45.

46.

3ifgel # HIc—Bic & THT 9T & ?

(A) STtz (B) STaRI—HRa
(C) 717 (D) a3t

What is the time of of Pruning in Amla ?

(A) June-July (B) January-February
(C) May-June (D) March-April

T4 9 DI AU HaT & oIy SR el & 7

(A) 3SR (B) 3T

(C) 9 (D) sitaem

Which of the following is suitable for salt affected soil ?
(A) Fig (B) Pineapple

(C) Bael (D) Amla

g4 ¥ fhadT STANT MR d9H # 211 & ?
(A) <l (B) ®
(C) amH (D) srmq
Which of the following fruit is used for pickle preparation ?
(A) Litchi (B) Ber
(C) Mango (D) Guava
fafrar g wa @t fosr © °?

(A) el (B) &

(C) 3™ (D) 3mg

16



47.

48.

49.

Chinia is the variety of which fruit ?

(A) Banana (B) Litchi
(C) Mango (D) Guava
=1 foe el @ feT © ?

(A) ereg (B) wem

(C) |axr (D) R
Kinnow is the variety of which fruit ?

(A) Guava (B) Banana

(C) Mandarin (D) Ber

IS e fha vl o fm 8 7

(A) e (B) @er

(C) 3 =g (D) it

Rose Scented is the variety of which fruit ?

(A) Mango (B) Banana

(C) Guava (D) Litchi

TR & 90T HT T T & 7

(A) STHERI—HRART (B) Heg RyqwaR—aracar
(C) wen FaraR—fawwr (D) A~

What is planting time of Straw berry ?

(A) January-February (B) Mid September-October

(C) Mid November-December (D) May-June

17



50. g8 9 fHddr SuART erget # g § ?
(A) 3 (B) ®cEa
(C) =ir=ir (D) aifae
Which of the following used in Trifalachurna ?
(A) Mango (B) Jack fruit

(C) Litchi (D) Amla

51. IRl HSThT [HH & DI fhe T ?
(A) R (B) Sirg
(C) ®cEd (D) <=
Banarasi Kadaka is the variety of which fruit ?
(A) Ber (B) Jamun
(C) Jack fruit (D) Litchi
52.  §TH ¥ I ATGTaN] Gl B Ul § ?
(A) TR (B) 3L
(C) fre (D) F=
Which of the following is from Malvaceae family ?
(A) Tomato (B) Potato
(C) Lady finger (D) Brinjal
53. g4 9 fd faemrh & @ea € 2
(A) dr (B) smeg
(C) eareR (D) T

18



54.

55.

56.

Which of the following is known as Bilayati Baigan ?
(A) Brinjal (B) Potato

(C) Tomato (D) Cauliflower

gTH ¥ I Aol el BT dier g ?

(A) 3treg (B) &

(C) THreR (D) |t

Which of the following is from Solanaceae family ?
(A) Potato (B) Brinjal

(C) Tomato (D) All

g7 R 5 B @ {8 2

(A) et (B) THIER
(ORICED (D) 3mmeg,
Pusa Jyoti is the variety of which crop ?

(A) Cauliflower (B) Tomato

(C) Spinach (D) Potato

o fhE wad 31 fod 7 2

(A) T (B) armeg

(C) THIeR (D) i< (31TeT)
Gajendra is the variety of which crop ?

(A) Brinjal (B) Potato

(C) Tomato (D) Elephant foot

19



57. QT S9N {69 B @ fhet g 2
(A) 7R (B) THIeR
(C) aireg (D) witfer
Pusa Barsati is the variety of which crop ?
(A) Pea (B) Tomato

(C) Potato (D) Lobia (Cow Pea)

58. M ¥ DI Sl ARIH & HHA T 7
(A) B & (B) &gy
(C) Betr (D) &
Which of the following is cool season crop ?
(A) French bean (B) Musk melon
(C) Bittergourd (D) Brinjal
50. RTol=s QAT [ BHa @l fde 2 ?
(A) IR (B) THIR
(C) ey DES
Rajendra Sonia is the variety of which crop ?
(A) Pea (B) Tomato

(C) Potato (D) Turmaric

60. Cb\l"l N[O 3AaNdh hl ST HIYH Sﬁ% ‘hXdrl % ?
(A) fRER (B) ITorRen

(C) & (D) Ho%0

20



61.

62.

63.

Which state produces maximum ginger ?
(A) Bihar (B) Rajasthan

(C) Kerala (D) M. P.

SINCIES! ﬁﬂ:f 49 DI B d % ?
(A) TS HH (B) ITH HIH
(SENSIN] (D) (B)wa (C)

Ajvain is of which season crop ?

(A) Winter season (B) Summer season

(C) Rainy season (D) Both (B) and (C)

RS YT 5 |l BT fher © 7

(A) et (B) "aifaiere
(C) TereTsel (D) seferam
Sharad Prabha is the variety of which flower ?
(A) Merigold (B) Gladiolus
(C) Chrysanthemum (D) Dahlia
ST A IR @l BT G B B ?

(A) e (B) Tetre

(C) TereTSal (D) TifEaTer

Which of the following plant is from Rosaceae family ?

(A) Merigold (B) Rose

(C) Chrysanthemum (D) Gladiolus

21



64. dos <ol [hd Hal B b B ?
(A) e (B) TereTSl
(C) ssferan (3) REISRIGE
World News is the variety of which flower ?
(A) Merigold (B) Chrysanthemum

(C) Dahlia (D) Gladiolus

65. STH 9 DI AT 94 & foly ST T 2
(A) efarsdl (B) ssferan
(C) ToifSarerd (D) 37 & g &
Which of the following is suitable for garland making ?
(A) Chrysanthemum (B) Dahlia

(C) Gladiolus (D) None of these

66. NOIHIIET & dgl Bl 4TS BT TII RIT & °

(A) Ard—3Tiet (B) SHaI—®HRas)

(C) Ferg—srTe (D) 57 A FE T
What is the planting time of tuberose tuber ?

(A) March-April (B) January-February
(C) July-August (D) None of these

67. TSI TN JITHUTT HYRIH Fal § 2

(A) geAT (B) ATTergR
(C) <T@, (D) ¢ faoell

22



68.

69.

70.

Where is the National Botanical Research Institute ?

(A) Patna (B) Bhagalpur
(C) Lucknow (D) New Delhi
T4 SRSH Fof &I UleT HiF 7 2

(A) Tefta (B) a1

(C) T (D) T

Which of the following plant is from Iridaceae family ?
(A) Rose (B) Merigold

(C) Gladiolus (D) Tuberose

Siell H 39 ¥ fhddT 2@aeR 8T § 2

(A) R (B) srroc
(C) ®ecea (D) eHTeR
Which of the following is used in Jelly ?

(A) Ber (B) Guava
(C) Jack fruit (D) Tomato
T 5T BT ISTERT ©

(A) s (B) celifas
(C) gazi=i (D) Zelwl=
Example of Audio-visual Aid is :

(A) Radio (B) Television

(C) Exhibition (D) Telephone

23



wvs— 4 /SECTION-B

o 3aad ysd /Short Answer Type Questions

U T 1 W 20 Tb Y SIRIY © | fbgl 10 Ul & SR o | YD U & forg
2 3 PefRa ¥ (10x2=20)

Question no. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. (10x2=20)

1. g D a1 S9d [l & 9M ford | 2

Write names of two improved varieties of wheat.

2. TAT & UH T & AW ford | 2
Write the name of one disease of Gram.

3. gg—Holll Wl R 7 7 2

What is multi-storied cropping ?

4. MR Wdl &7 g 2 2

What is parallel cropping ?

5. ST IdT bl FaT HRA diell & Badl & A9 ford | 2

Write two names of crops, resistant to water logging.
6. wde REarg @1 a1 ARl & M ford | 2
Write names of two methods of surface irrigation.

7. faRreamwTe? 2

What is Diara land ?

24



10.

11.

12.

13.

14.

15.

16.

17.

& 49 B g1 ORI Bl & A o |

Write names of two Rabi season fodder crops.

T & IATS BT 9T T 7 7

What is the Planting time of Sugarcane ?
3Slel & IR H ford |

Write about Azolla.

ARfera Tl T 7 7

What is Precision farming ?

RUoT &7 GihR fAfer T ford |

Write square system of Planting.

ey siRafST #r 8 2

What is meadow orcharding ?

ST B T fhr & A ford |

Write names of two varieties of Litchi.

EgT H Wl Ud IaRD DI AET BT quid Y |

Describe manures and fertilizer in garlic.

fd o1 31 fos @& A9 ford |
Write names of two varieties of chilli.
AT B &1 fbei o1 W ford |

Write names of two Rose varieties.
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18. UsAc RT B ? 2
What is Shednet.

19.  Slell & foIT SUYad wall &1 A ford | 2

Write names of fruits suitable for Jelly.
20. I 39 & IUBVN b A4 ford | 2

Write names of two Audio-Visual Aids.

&1l 9o 939 (Long Answer Type Questions)

U9 GRAT 21 W 26 db <" ST BIfc & U & | 3989 O fbl 3 UvHl & SR

< U¥% 9 & fou 5 3 FEiRd € | (3x5=15)

Question no. 21 to 26 are Long answer type questions. Answer any 3 of

them. Each question carries 5 marks. (3x5=15)
21. O B Wl BT A=feRad fiuai # qoi o - 5
(@) Suga STetary (b) FH s

(c) Iu @ foIg WA @ AR (d) ®c gaee

(e) It ude

Describe the cultivation of Rice under following heads :
(a) Suitable Climate

(b) Hybrid varieties

(c) Preparation of land for transplanting

(d) Insect Management

26



22.

23.

24,

25.

(e) Water Management

S B Wl BT EfaRad et & o & |

() STga et OEISIEEIN
(€) SRP wseH CIRSSERIRERI
(e) sust

Describe the cultivation of Black gram under following heads:

(a)Suitable Soil (b) Seed Treatment
(c) Fertilizer Management (d) Inter Cropping
(e) Yield

Y &5 @ ygE e FERISi &1 avi o |
Desribe the important economic problems in agriculture field.

JATTAT BT Wil b1 FeferRad e § goiF o -

(@) STt (b) Sterary
(c) @ Td IR® (d) fe=rs
(e) vomfort

Describe the cultivation of Amla under the following heads:
(a) Uses (b) Climate

(c) Manure and fertilizer (d) Irrigation

(e) Varieties

ST B el &1 FrferRaa ol § 9oiF v

(@) facd (b) S=ier v

27



26.

(c) 91 & AT (d) gorg @1 "I

(e) @ Ud IR®H

Describe the cultivation of Lady finger under the following heads:
(a) Soil (b) Improved Varieties

(C) Quantity of seed (d) Sowing time

(e) Manure and fertilizer

\WaN

ST BT A Wl BT qui BN | 5

Describe the scientific cultivation of Gladiolus.
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